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1- complete the following dialogue :

Imad : What can we do when we run out of fossil fuels ?

Fares

Imad : Renewable énergy ? -?
Fares :lmean the energy which last forever .

Imad : Canyou give me some examples of renewable energy ?

Fares

Imad ?

Fares : Solar panels can be put in fields or ;n buildings .
Imad : ?

Fares :renewable'energy is good for the environment as it isn't pollute the air .

4= Read the passage then answer the questions

A large factory in Denmarkhas an inexpensive way of producing renewable
energy. It burns rubbish If the factory did not burn the rubbish, it would go to
landfill sites. By burning

the rubbish, the factory produces enough electricity for 150,000 homes. If the
factory burned fossil fuels to make this electricity, it would produce a lot more
greenhouse gases. There

is a garden on the roof of the factory. The plants there absorb'some of the air
pollution that comes from the factory. You can also ski down'the roof! Isn't that
amazing .

Read the text and answer the questions.

1- What does the factory produce?
a) enough electricity b) solar farms c) recycling d) glasses

2- How does it produce this ?
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a) By oil b)by petrol c) by water d) by burning rubbish
3-What would happen if they didn't burn the rubbish?

a) It will disappear b) It will dissolved

c) it will run out d) It will go to landfill site

4 What would be produced if the factory used fossil fuels ?
5- What do the plants on thérroof do?
6 -How do you think the workers in the factory feel?

o= Choose the correct answer @

1- One of the serious consequences of global warming is to cause

a) dehydration b) desertification ic) deforestation d) actions
2- conditioning consumes-a lot of electricity .
a)Wall b) Whole c) Air d)Water

3-What is the reason ( of - for — at - to ) your absence ?

4-We add the suffix ( ed —in = ing — ment ) to give the noun from the word recycle .
5- Superman has special ( lifts - energy — powers — pours ) which help him save
many people.

6-What does this factory ( product - produce - production - producer )?

5- Complete the sentenées with the correct form of the words:in brackets :

1 - | used to play football but now | (didn't)

2- My father was used to ( smoke ) heavily .

3-If | (am), I would go to hospital .

4- If the boy insisted to go , | ( will give ) him permission.

5- what is the cause ( for ) the fire .




